CAPS7:4 Post –Formative Scoring Guide
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	1. 
	C
	
	1
	R3C
	11
	A
	Summarize
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	2. 
	A
	
	1
	R3C
	10
	A
	Point of View
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	3. 
	
	X
	3
	R3C
	12
	A
	Predicting


SCORING GUIDE
3 Points	Response includes a text based prediction AND two details from the story for support.
2 Points	Response includes a text based prediction AND one detail from the story for support.
1 Point	Response includes a text based prediction.
0 Points	Other
Examples of a 3 point response:
· Sarah Pardee’s mansion would have more than 160 rooms because she kept building on and it would also have had more zig-zagging stairways because she would have had to build them because of her arthritis as she built more.
· Sarah Pardee’s mansion would look weird because she sealed off the front 30 rooms.  It would also have a ton of wall colors because she could never make up her mind on paint.
Examples of a 2 point response:
· Sarah Pardee’s mansion would have been even bigger because she had to seal off the front 30 rooms.  
· Sarah Pardee’s mansion would not have been seven stories tall because the earthquake knocked down the top three stories.  She died before she could rebuild them.
Examples of a 1 point response:
· Sarah Pardee’s mansion would have many rooms.
· Sarah Pardee’s mansion continued to get bigger.
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	4.
	D
	
	1
	R3C
	3
	A
	Cause/Effect
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	5. 
	C
	
	1
	R3C
	1
	A
	Sequencing
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	6. 
	B
	
	1
	R3C
	4
	A
	Effectiveness of Solutions
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	7. 
	
	X
	2
	R3C
	2
	A
	Compare/Contrast


SCORING GUIDE
2 Points 	Response includes one similarity AND one difference supported by the 
                        text.
1 Point	 	Response includes one similarity OR one difference, two similarities, or 
                       	 two differences.
0 Points	 Other
Examples of a 2 point response:
· The U.S. Navy started using dolphins in 1960 and the Russians started using them in 1966.  The similarity is that the dolphins were both used by a country’s Navy.  
· In both the Russian and United States Navies the use of dolphins has declined.  A difference is the Russians used dolphins to help treat sick kids and the United States used them to find mines.
Examples of a 1 point response:
· Both the Russian and U.S. Navies began to train dolphins for use in the 1960’s.
· The Russian Navy used dolphins for medical research and the United States Navy used them to spot enemy divers.
· The Russian Navy and U.S. Navy began using dolphins in the 1960’s but now the use of dolphins has declined by both.
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	8.
	C
	
	1
	R3C
	1
	A
	Sequence of Events
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	9. 
	D
	
	1
	R3C
	3
	A
	Cause/Effect
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	10. 
	
	X
	3
	R3C
	2
	C
	Compare/Contrast


SCORING GUIDE
3 Point Response	Response includes two text based differences AND one text based 			similarity.  
2 Point Response	Response includes EITHER two text based differences OR one text based difference AND a text based similarity.
1 Point Response	Response includes one text based difference OR one text based 				similarity.
0 Point Response	Other
Possible Text Based Differences:
1. Watson is a computer, Jennings and Rutter are people.
1. Watson is the size of eight refrigerators, Jennings and Rutter are not.
1. Watson won, Jennings and Rutter didn’t.
1. Watson’s face is represented by a screen, Jennings and Rutter have a real face.
1. Watson speaks with a computer generated voice, Jennings and Rutter have a human voice.
1. As well as other plausible text based answers.
Possible Similarities:
1. Both played Jeopardy.
1. Both were Jeopardy Champions.
1. Both can “think”.
1. Both calculate how confident they are to place their wagers.
1. As well as other plausible text based answers.  
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	11. 
	
	X
	3
	R3C
	4
	A
	Problem/solution


SCORING GUIDE
3 Point	Response	Answer includes an identified problem, the company’s solution 
			AND one detail which explains if the solution is effective or 
			ineffective.
2 Point Response	Answer includes an identified problem AND the company’s solution OR the company’s solution AND one detail explaining if the solution is 	effective or ineffective.
1 Point Response	Answer includes an identified problem OR the company’s solution to the problem.
0 Point Response	Other
Example of a 3 Point Response:
· Scientists had to figure out a way to get Watson to press a buzzer when it was only pretty sure it had the right answer.  The company’s solution to the problem was to make Watson buzz only if it was at least 67% sure of the answer.  This was an effective solution because Watson knew how confident it was in the answers and only answered questions in which it was confident.
Examples of a 2 Point Response:
· Scientists had to figure out a way to get Watson to press a buzzer when it was only pretty sure it had the right answer.  The company’s solution to the problem was to make Watson buzz only if it was at least 67% sure of the answer.  
· The company solved their problem with Watson by making Watson buzz only if it was at least 67% sure of the answer.  This was an effective solution because Watson knew how confident it was in the answers and only answered questions in which it was confident.
Examples of a 1 Point Response:
· Scientists had to figure out a way to get Watson to press a buzzer when it was only pretty sure it had the right answer.
· The company’s solution to the problem was to make Watson buzz only if it was at least 67% sure of the answer.

